20229 =& 1 3 JIetEEeH 8 (el &=J)
20k - 22 - AL - SIS (3]H) Ofl A & A Hwsz .

= Al 47,726,455 50,018,488 N2,292,033 N4 .58%
ZIAIS 42,662,852 45,003,941 N2,341,089 5. 20%
HRES 4,084,056 4,035,000 49,056 1.22%
HY 2L A 979,547 979,547 0 0.00%
LetsZME 258,824 320,763 261,939 A19.31%
el Py 258,824 320,763 261,939 A19.31%
SR FHSEX & 258,824 320,763 261,939 A19.31%
SPR0HUE 2e|2Y (SR O0IIESES|H) 258,824 320,763 261,939 A19.31%
Zotsaa 6,848,827 5,348,827 1,500,000 28.04%
2t 6,848,827 5,348,827 1,500,000 28.04%
S2UAELE 2 TENLAS 6,848,827 5,348,827 1,500,000 28.04%
TN LA (SLHLAESEEIH) 6,205,880 4,705,880 1,500,000 31.88%
SIS AR 2o 2 (SEHLALSESIA) 602,947 602,947 0 0.00%
QIIPEAIE 22|2E(SLHLAILSESIA) 40,000 40,000 0 0.00%
g 21,791,446 24,150,364 N2,358,918 N9 TTh
&6t - =3 21,791,446 24,150,364 N2,358,918 N9 TTh
oot FABEMNY = 184,250 184,250 0 0.00%
EFH 2 (FENLSESA) 74,250 74,250 0 0.00%
otd L ot MelD| Fat Al (EIHESESIA) 110,000 110,000 0 0.00%
=G Al 2 3,246,090 3,154,806 91,284 2.8%%
o= H FFAld2e| € 3,246,090 3,154,806 91,284 2.8%%

2 (M+TAIESESIH)
ot=EAlE AXI 9,341,000 11,871,000 22,530,000 A21.31%
B30t EX(FEMLELESIA) 9,341,000 11,871,000 22,530,000 A21.31%
St=E2tel 3,961,500 3,943,500 18,000 0.46%
SteEXIEAS (EINESESIA) 3,961,500 3,943,500 18,000 0.46%
&0 HRE = 3= 10,000 0 10,000 =3
Sz (EMEELS) 10,000 0 10,000 =3
oot FABEMNY = 4,996,808 4,996,808 0 0.00%
AL 2| (SEIHLEESIA) 95,000 95,000 0 0.00%
T RMG (SR SESIA) 1,780,849 1,780,849 0 0.00%
SBHUAEXR (SEMESELSIAH) 3,120,959 3,120,959 0 0.00%
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20k - 22 - AL - SIS (3]H) Ofl A & A Hwsz =us

OB (SSHLAL) (SLIHL AL S LB H) 54,000 1,706,000 A1,652,000) A96.83%
Gl 66,732 68,042 1,310 A1.93%
OliHIH(sSLEIIZELEH) 66,732 68,042 1,310 A1.93%
5,011,175 5,014,547 N3,372 A0.07%

Et 5,011,175 5,014,547 N3,372 A0.07%
HY2ALH|(AGt=Z1) 724,789 724,789 0 0.00%
lARAH|(M+SAIESESI) 724,789 724,789 0 0.00%
2L AHI(&Tt=Em) 254,758 254,758 0 0.00%
QIARHHI(+ENLSLESH) 254,758 254,758 0 0.00%
HWResS(HFHWUSH) 3,999,000 4,035,000 236,000 20.8%%
BEXE(SRLOIHESES|H) 3,999,000 4,035,000 236,000 A0.8%%
Hess (=R mn) 32,628 0 32,628 =3
SBEIE(AZSS0HIISELIAH) 32,628 0 32,628 =3

_88_




